

PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

CMX, inc. 1700 N Waterfront Parkway Bldg 300, Suite B Wichita, KS 67206

### INVOICE

Invoice Number: 147796

Invoice Date: Dec 15, 2014 1

Page:

Federal Tax I.D.#: 20-8651475

- Customer ID	Field Ticket#	Payment	Terms	
CMX	67268	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS2-02	Great Bend	Dec 15, 2014	1/14/15	

Quantity	lifem	Description	Unit Price	Amount
	WELL NAME	Claflin #1-35		
145.00		ASC	23.50	3,407.50
	CEMENT MATERIALS	Kol Seal	0.98	710.50
41.00	CEMENT MATERIALS	FL-160	18.90	774.90
20.00	CEMENT MATERIALS	Defoamer	3.50	70.00
50.00	CEMENT MATERIALS	60/40/4% Gel Blend	18.92	946.00
12.00		Fio Seal	2.97	35.64
500.00		DV-1100	1.35	675.00
241.89		Cubic Feet Charge	2.48	599.89
155.85		Ton Mileage Charge	2.75	428.59
1.00		Production Casing	2,558.75	2,558.75
15.00		Pump Truck Mileage	7.70	115.50
	CEMENT SERVICE	Light Vehicle Mileage	4.40	66.00
1.00		High Connection	500.00	500.00
1.00	1	5-1/2 Packer Shoe	3,590.00	3,590.00
6.00		5-1/2 Centralizer	57.00	342.00
1.00		5-1/2 Latch Down Plug	660.00	660.00
	CEMENT SUPERVISOR	Joshua Isaac		
	EQUIPMENT OPERATOR			
1		Kevin Weighous		
1.00	OFERMION ASSISTANT	Tradition to agree a		
		Subtotal		15,480.27

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

4,196.71

ONLY IF PAID ON OR BEFORE Jan 14, 2015

Subtotal	15,480.27
Sales Tax	801.63
Total Invoice Amount	16,281.90
Payment/Credit Applied	
TOTAL	16,281.90

12,085.19

# ALLIED OIL & GAS SERVICES, LLC Federal Tax I.D. #20-5975804 067268

REMIT TO P.O.	BOX 93999 THLAKE, TEXAS 76	:007		SER	VICE POINT:	Send
3001	IRLANE, IEAAS 70					
DATE 17-15-14	SEC. 35 TWP/6	RANGE //	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
-	WELL# /-35	LOCATION C	aflin - 1 East	- 801-55	COUNTY	STATE-
OLD OR NEW (C		LOCATION CT	47111 - 1 1-1011	70 70 -14 18	707 FCF	<del></del>
OLD OK ITEM (C	ncie (ilie)					
CONTRACTOR	DUKY 7		OWNER			
TYPE OF JOB						
	T.D		CEMENT		_	
CASING SIZE	5/2 DE	PTH 3388.	AMOUNT	ORDERED <u>  45</u>	sy Asc 7	1 921 67542
TUBING SIZE		PTH	<u> 16 x, sa</u>	It SH Kehl	3%.F1 160	VDE
DRILL PIPE		PTH	50sx	1/40 47.00	14 F/c	<del></del>
TOOL		PTH		•		
PRES. MAX	MI	NIMUM OE JOINT 42,	COMMON		@	
MEAS. LINE CEMENT LEFT I			<u>78</u> POZMIA GEL			
PERFS.	IN COU. Y LAIB		GEL CHLORID			
	T 81.65 hb	1 420	ASC_/Y	55%	@ 23.50	3.407.50
	EQUIPMENT		Kala	CS) 72	<u>ና</u> @ <u>• ۶४</u>	710.50
	PAONIMENT	•	41-14	41	@ 18.90	774, 90
DI 10 40 701 1011	CEMENTER S	56 3660	<u> </u>	2.	@ 3.56	70.00
PUMPTRUCK # 366	HELPER Reg	,	<u> క్రక</u>	x 60/40 + 4	30 18.32	946.00
BULK TRUCK	HELFER DEA	100000	<u> - Alo</u>			35.64 675.60
# 5441-198	DRIVER Jose	Townholm Gu	(5) <u>DV 11</u>	00 500	<u> </u>	6/3.=
BULK TRUCK	_				@	
#	DRIVER KEJA	a Wellous				L (1.619,5
		J				
	REMARKS:			I	DISCOUNT <u>28</u>	_%/. <u>&amp;5</u> 3-
	;			CFI	RVICE	
	-Rigue- had &					
Pun 0 10 bis	sing - Bresic cir	INZ		G 241-89		591.89
DIL RH +	MH	<del></del>	MILEAGE	10.39 X 15 X	2.75	<u> </u>
MX 145 5			DEPTH OF	JOB		
			PUMP TRU	JCK CHARGE		2558.75
Displace	81:65 661	HZO	EXTRA FO	OTAGE	@	
Land plus	1200 051	-578pm	HV MILEA	.GE 15	@ 7.70	115.50
Res down	•	-		GE 15	@ 4.40	
				enerties.	@ Sec. 6	500.00
CHARGE TO:	CMX			iner jus	<u></u>	
STREET					TOTA	L 4. 268. 7
31KEE1	<u> </u>		<del></del>		VECOUNT 7 &	% 1.195. 2
CITY	STATE	ZIP	<del></del>		MSCOUNT A 0	
					A TO YOUR A	nine.
				PLUG & PLU	AT EQUIPME	17.1
			<del>-^</del>		6.2.5	60 3.590.°
Ta. A 111=4 A41	P. Gos Comises II	C	Val.	(1 - ) Hod	@ <u>3598</u> @ 57.00	
	& Gas Services, LL requested to rent or			raralizas	<u> </u>	00 (44.00
rou are nereby	requested to refit of menter and helper(s)	onening equipa	or Latin	Den- big		<u>.                                      </u>
and furnish cel	o work as is listed.	The above work	mac	- La.	@ @	
	ction and supervision					- 11.5629
contractor I h	ave read and unders	tand the "GENE	RAL			፲ <u>५.5 ዓ2.9</u>
TERMS AND	CONDITIONS" lis	ted on the reverse	e side.		DISCOUNT <u>25</u>	% 1.148.0
A MANAGEMENT				TAX (If Any)		<u>-</u>
	XDAN	Q-6LU	TOTAL	CHARGES 15.	480.27	<del></del>
PRINTED NAM	NE / TEITD	TOWNY.	_			A TO THE 20 TO 4370
	MILE		DISCOU			AID IN 30 DAYS
SIGNATURE	/KotoK/	>4\P	NET TO	fal <u>//. 28</u>	3. 75 IFI	PAID IN 30 DAYS



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

#### Bill To:

CMX, Inc.

1700 N Waterfront Parkway

Bldg 300, Suite B Wichita, KS 67206

### INVOICE

Invoice Number: 147623

Invoice Date: Dec 9, 2014 1

Page:

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket#	Paymer	nt Terms	
CMX	63729	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS2-01	Great Bend	Dec 9, 2014	1/8/15	

Quantity	[tem	Description	Unit Price	Amount
	WELL NAME	Claflin #1-35		
300.00	CEMENT MATERIALS	Class A Common	17.90	5,370.00
846.00	CEMENT MATERIALS	Chloride	1.10	930.60
316.75	CEMENT SERVICE	Cubic Feet Charge	2.48	785.54
217.85	CEMENT SERVICE	Ton Mileage Charge	2.75	599.09
1.00	CEMENT SERVICE	Surface	2,058.50	2,058.50
15.00	CEMENT SERVICE	Pump Truck Mileage	7.70	115.50
1.00	CEMENT SERVICE	Manifold Head Rental	275.00	275.00
15.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	66.00
1	EQUIPMENT SALES	8-5/8 Wooden Plug	110.00	110.00
1.00	CEMENT SUPERVISOR	Kevin Eddy		
1.00	OPERATOR ASSISTANT	Patrick Walker		
			· I	
1				
		Dubbatal		10 310 23

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,856.06

ONLY IF PAID ON OR BEFORE Jan 8, 2015

Subtotal	10,310.23
Sales Tax	458.36
Total Invoice Amount	10,768.59
Payment/Credit Applied	
TOTAL	10,768.59

## ALLIED OIL & GAS SERVICES, LLC 063729 Federal Tax I.D.# 20-8651475

REMIT TO P.O. BO SOUTH		9 FEXAS 76	092			SER	VICE POINT: Great Re	w Ks
		ITWP.		CALLED		low Location	JOB START	JOB FINISH
DATE 12 -09-14	SEC.	176	RANGE //:-	CALLED		ON LOCATION 9:45 Am	12:30 Pm	1100Pm
LEASE Clastin			LOCATION'C/A	FIJSKS 1 K	ost To	140 Rd	Putter	STATE
OLD OR NEW (Ci	rcie one)	·····	8 North E	ast into			J	
CONTRACTOR	Duke	8.		OWN	ER			
TYPE OF JOB S.	<u> </u>	2	4					
HOLE SIZE 124	6 01.6	<u>T.I.</u>	), 475 PTH 475		ENT	DEDED San	e Class	30, 00
CASING SIZE 85 TUBING SIZE	8 24-		PTH 473	AMU	UNIOR	RDERED 3005	x>	4 3/9 CC
DRILL PIPE			PTH					
TOOL			PTH					
PRES. MAX		MI	NIMUM	СОМ	MON	300	<u> </u>	5.370,9
MEAS. LINE		SH	OE JOINT				@	- <del></del>
CEMENT LEFT IN	CSG.	5.4		GEL			@	
PERFS.				CHL	DRIDE_	846	@ 1.10	930.60
DISPLACEMENT	29.30	BBIS E	resh HAO	ASC		Materia	10 10101	4.300.9
	EQ	UIPMENT	r			Desc		1.764.1
PUMP TRUCK	CEMEN'	TER Leu	12 Eggy			<del></del>		
			K WAIKER		_			
BULK TRUCK		• •					@	
# 259 198	DRIVER	Jose 7	racheto (	<u>1NS) —</u>			ewu	
BULK TRUCK			_				_@	
#	DRIVER	Secry	Acasta (	705) HAN	DLING	314.75	@3.48	785. SE
			C		FAGE 2	217.85	2-75	579.97
Ses Class A 3? Displace 87.30 In- Rig Down	RRIS F	iesh Was	. SHUT DOWN -	SÁIGT PUM EXT	PTRUC RA FOO	OB <u>47 S</u> CK CHARGE TAGE	2058.5	115.50
					EAGE_			375.00
				—— МАГ	dFOLD	14end 15		
				***************************************		, , , , , , , , , , , , , , , , , , ,	@	
CHARGE TO: C	mx	Truc						
_							A . TOTA	r 3.849. 6
STREET						,	DESC 289	F 1.901 - E
CITY	s	STATE	ZIP	<del></del>		PLUG & FLOA		
THANK	1 12	1						
MANK	1	ω;		14	noder	V Plug	@_//0.6	110.88
To: Allied Oil &	Gas Ser	vices, LL	C.					
You are hereby r								
and furnish ceme								
contractor to do							TOTA	1/4.00
done to satisfact							مردره	L 110.00
contractor. I have					ES TAY	(If Any)	7-00	
TERMS AND C	ONDIT	IONS" list	ed on the reverse	e side.	ES IAA	(II Ally)	22	<del></del>
	^	./		TOT	'AL CHA	ARGES TO 310		
PRINTED NAME	Dion	1 19.	SQUCZ.	DIS	COUNT	۲۰ ۸۵۱	IF PA	AID IN 30 DAY
PRINTED NAME	Dion	Vasa	uez	<del>-</del>		7. 45°	1-16	